Problem 1
|

What is the greatest possible value of f if
8sin2x 1

fog= =20

Problem 3
|

If (sin x — cos x)* = 0.83, what is the value of
(sin x + cos x)*?
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Problem 2
|

¢ 2
If cos(z]:a, what is the value of 3] ?
3 3
! J
Problem 4
sin L
Which of the following is equivalent to 0/ 7
cOos o]
3
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Problem 5

Y
=

If sin # < 0 and sin f cos 8 < 0, then # must be in
which quadrant of the figure above?

A) 1 B) 1 C) m D) IV

Problem 7

Ifsin b = a, which of the following could be the value
of cos (b + m)?

A) a®—1
B) a*-1

[ 2
C) —vl-a
D) 1-a*

Problem 6

: a i}
If sinx = 3 and 0<x< > which of the following
/]
expressions is equal to b
a
| x
1
Lk
)

C) 1-—sinx

1_X]
|2

A)  sin

B)

Cos

D) sin
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Problem 8

| COSX 3 .

If 0<x<— and ————=2=, what s the value of
2 l—=sin"x 2

cos x?

A)
B)

9)

O W= O

D)
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